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v(t) = 8.6sin(300t + 80°) i(t) = 0.12sin(300t + 10°)
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2.What is the phase relationship between the following pairs of waveforms?
v(t) =12sin(400t —72°) i(t) = 0.4sin(400t —16°)
[ i(t) 28 v(t) 88° [ v(t) 4f % i(t) 88° [i(t) 47 £ v(t) 56° [] v(t) 48 £ i(t) 56°
] i(t) %18 v(t) 88° [ v(t) 5% {5 i(t) 88° [Ji(t) 7% is v(t) 56° [l v(t) 7% s i(t) 56°
CJre b g 2e
. What is the phase relationship between the following pairs of waveforms?
v(t) =0.05sin(wt —120°) i(t) = 5x10° sin(wt + 20°)
(] i(t) A48 v(t) 100° [ v(t) 4% i(t) 100° [l i(t) 42 v(t) 140° [] v(t) 48 £ i(t) 140°
(] i(t) 5518 v(t) 100° [ v(t) 525 i(t) 100° ] i(t) %15 v(t) 140° [l v(t) %5 i(t) 140°
[Jr2 ¥ g2t
4.% - TLBms B 5 40V 0 #F 5 (Frequency) f 5 5S00Hz > 4p & & 5 +40° (4E-L ) 3R -
T Behpeak value V, 5 56.57 \Y

7 & eh angular velocity o 2 2x500=3141.59 rad/s
7 R £h sinusoidal expression » 56.57sin(3141.59t+40°)

. Write the sinusoidal expression for a current i(t) that has a peak value of 6pA and leads the following
voltage by 40°. v(t) =16sin(1000t + 6°)
% 1 i(H)= 6x107°sin(1000t + 46°)A

. Write the sinusoidal expression for a voltage v(t) that has a peak value of 48mV and lags the following
current by 60°. 1(t) =4 x 107 sin( ot —30°)
%% 1 y(t)= 48x107 sin(ot — 90°)V
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. Write the sinusoidal expression for the quantity using the information provided: Ie¢= 36 mA, f =1

kHz, phase angle = 60°
%% 1 ()= /2 x36x107 sin(2xft + 60°) = 50.9 x 107> sin(6,288.2t + 60°) A
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. For the following pairs determine whether the element is a resistor, inductor, or capacitor, and
determine the resistance, inductance, or capacitance.
v(t)=165sin(200t+80°)V  1i(t) =0.04sin(200t —10°)A

[ Jresistor resistance= Q

linductor inductance= 2 H

[ Jcapacitor capacitance= F
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9. For the following pairs determine whether the element is a resistor, inductor, or capacitor, and

determine the resistance, inductance, or capacitance.
v(t) =0.125sin(1000t +10°)V  i(t) =6x107 cos(1000t + 10°)A

[ Iresistor resistance= Q
[ Jinductor  inductance= H
Bcapacitor capacitance= S0pn F
i(t) =6x107 cos(1000t +10°)A = 6 x 107 sin(1000t + 100°) A
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10. Using phasor notation, determine the voltage (in the time domain) across a 10 pF capacitor if the
current through the capacitor is i.(t) =40 x 10~ sin(10t + 40°)

Ic(jw)= 28.284x107°240° A (current with phasor notation )
Ve(jw)= 282.842£—-50°V (voltage with phasor notation )
ve(t)= 400sin(10t—-50°) v (voltage in time domain )
11. Using phasor notation, determine the current (in the time domain) through a 20-mH coil if the voltage
across the coil is v (t) =4sin(1000t +10°)
Vi(w)= 2.8287£10° V (voltage with phasor notation )
I, (jw)= 0.1414 £-80° A (current with phasor notation )
ir(t)= 0.2sin(1000t-80°) A (curremt in time domain )



